Dr. Shirley's Greek Courses
Grammar

The —pi Verbs

The —u verbs differ from verbs ending in -w only in the Present, Imperfect, and 2nd Aorist tenses. Their other tenses use
the same endings as —w verbs. g1ML is irregular.

S10cop!
Indicative Indicative | Subjunctive | Imperative | Infinitive | Infinitive Participle Active Participle Middle
Tense Active Middle Active Middle & | Nom.M F N & Passive
Passive | Gen.
10wt d1dopat 10w
d10cos d1600a1 A0S 58
10OV
d1dwotv | didoTa 10w 515016
Present
S18opev | S1doueda S150opev S150Te S18ovan | S18ocban d1bous —ouog —ou Sidopevos —n —ov
SidoTe S18006¢ S1dwoTe 150 Teo00V SidovTa
d1doaotv | didovTal d1dwaotv
£SOKO eSounv Sw
eScokas | €Sou Sws Sos
ESCOKEY ¢80TO I SoTeo
Aorist
eScokapey | eSopeda Scopev Souvor | — Sous Souoa Sov B
eScokaTe | 8000E ScoTe SoTe SovTa
eScokav | eSovTo Scaov SoTeoav




L L .. Infinitive Participle Active . .
Tense Indicative Indicative Subjunctive | Imperative Infinitive Middle & | Nom.M F N Participle
Active Middle Active . Middle & Passive
Passive Gen.
Ot
TIOnut T1Bspat Bco
Tifns TiBeca bns T10e1
TiBnow TiBeToul n TiBeTw
Present TiBevon | TiBecBon | TiBeis —e1000 —ev TiBsyuevos —1 —ov
T10epev T10sueba Bcopev T10evTO
TiBeTe T10e00e OnTe TiBeTe
TiBsaoiv TiBsvTan Bcoov TifeTwoav
ebnKa ebnunv o
ebnkas eBou Beos Bes
ebnkev ebeTo I BeTco
Aorist , , Bevait - Beis Beroo Bev -
eBnkouev eBeueba Bcopev I
ebnkorTe £0eoBe BcoTe Bee
gbnkov gbevTo Bcootv BeTcooav
1oTNuI
loTnut \oTOpa 10T
10TNS \oTaoal anly
loTNnoIv loToTAl 1ot
Present loTavatl | lotacbol | 16ToS —000 —av IOTOUEVOS —T) —OV
1oTorpEY loTopeba 1OTWHEY 1oTavTA
loToTe loToobe 10T TE
10TaoIV 10TaVTOl 10TWOoV
£0TNV oTw
€0TNS otns
E0TNV ot
Aorist - - oTnval - OTOS OTOOO OTOV —
E0TTHEV OTWEY OTAVTX
£0TNTE oTnTE
£0TNOOV OTWOIV

lomnut has a set of transitive tenses (meaning "I caused something to stand") which include the Present Active, Future Active 6Tnoe, and First Aorist Active £é0Tnoo

and a set of intransitive tenses, (meaning "I stood") which include the Second Aorist Active €aTnv, the First Aorist Passive €oToBnv, and the Perfect Active gotnka (which
is present in meaning - "I stand").

The 2™ Aorist Active and the 1*' Aorist Passive both mean "I stood".

There are two forms of the Perfect Participle Active : E0TTK®WS —ula —os and €0TWS —woo —ov : they are both Present in meaning "standing".

' verb-mi

Copyright © 1999 Shirley J. Rollinson, all Rights Reserved http://www.drshirley.org/




